precision
PMT mounting

2022+ CHEVROLET SILVERADO 1500 (LT, RST, LT TRAIL

BOSS, LTZ, HIGH COUNTRY & ZR2)

2024+ CHEVROLET SILVERADO 2500HD & 3500HD (LT,
LTZ & HIGH COUNTRY)

2022+ GMC SIERRA 1500 (SLE, ELEVATION & SLT)
2024+ GMC SIERRA 2500HD & 3500 HD (SLE & SLT)
FOR USE WITH THE MOTOROLA APX2500/6500/7500

USER GUIDE

Part Number

2022+ CHEVROLET SILVERADO & GMC SIERRA 40.C235.058
RADIO DASH MOUNT BASE PLATE

MOTOROLA APX2500/6500/7500 DASH MOUNT AS4.C235.418
BRACKET ASSEMBLY

Product Mounting Disclaimer

Precision Mounting Technologies Ltd (PMT) are not liable under any theory of contract or tort law for any loss, damage, personal injury,
special, incidental or consequential damages for personal injury or other damage of any nature arising directly or indirectly as a result of
the improper installation or use of its products in vehicle or any other application. In order to safely install and use PMT products full
consideration of vehicle occupants, vehicle systems (i.e., the location of fuel lines, brake lines, electrical, drive train or other systems), air-
bags and other safety equipment is required. PMT specifically disclaims any responsibility for the improper use or installation of its
products not consistent with original vehicle manufactures’ specifications and recommendations, PMT product instruction sheets, or
workmanship standards as endorsed through PMT policies and EULA.

515 58th Ave SE, Calgary, Alberta, T2H OP7
[ J
PM ' WWW.PRECISIONMOUNTS.COM 1-888-869-7652 | info@precisionmounts.com




DESCRIPTION OF PARTS

Universal Radio Mount Tabs

4X 1/4”-20 X 0.5” Button Head Screw

2X #10-32 X 1-1/4”
Mic Clip Holder

2X 1/47-20 X 3/8”

Dash Mount Base Plate

2X #8-15 X 1-1/4 Hex Head Screw

2X #8-15 X 1-1/2 Hex Head Screw

515 58th Ave SE, Calgary, Alberta, T2H OP7
wWwWw ([
-PRECISIONMOUNTS.COM 1-888-869-7652 | info@precisionmounts.com




INSTALLATION INSTRUCTIONS

Tools Required
. 1/4” & 9/32” socket with suitable Ratchet and Extension.

Step 1
Gently pry and remove the rubber tray liner from the top of the dash.

Step 2
Remove 4 OEM screws by using the 9/32” socket.

515 58th Ave SE, Calgary, Alberta, T2H OP7
[ J
WWW.PRECISIONMOUNTS.COM 1-888-869-7652 | info@precisionmounts.com




INSTALLATION INSTRUCTIONS

Step 3

Place the dash mount base plate into the dash pocket. Install #8-15 screws with supplied
washers into the OEM threaded holes with the 1/4“ socket. Ensure all 4 screws are tight.

IMPORTANT Note: The longer 1-1/2” #8 Screws are installed in the outer locations.

#8-15 X 1-1/2 Hex Head Screw #8-15 X 1-1/2 Hex Head Screw

515 58th Ave SE, Calgary, Alberta, T2H OP7
wWwWw ( J
-PRECISIONMOUNTS.COM 1-888-869-7652 | info@precisionmounts.com




	Slide 1: 2022+ Chevrolet Silverado 1500 (lt, rst, lt trail boss, ltz, high country & zr2)  2024+ Chevrolet Silverado 2500hd & 3500HD (lt, ltz & high country)   2022+ GMC sierra 1500 (sle, elevation & slt)  2024+ gmc sierra 2500hd & 3500 hd (sle & slt)  fo
	Slide 2: DESCRIPTION OF PARTS
	Slide 3: Installation instructions
	Slide 4: Installation instructions

